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Alt euestioni ofe coilpulsory and each questitonis of I marle

Ei#qr{r#f sr*neiC'#tftqfdd ellfr# qlaratqzry* /

&tly hglish uersion is vslid ln case o! differencc in both the langrn'$es.

1, ffiS* sfit+qftt''

(a) (tqtqst

1py rtrmtm

(c) ffiiFa'

(d) SFrq

2, I.S. s-{tr({otaorqm'rTrq *ff f
(a) 200 x 100 x 100 mm

(b) 195 x 95 x 95 mtn

(c) 190 x 90 x 90 mrir

(d) 200 x 9t[ 1!Q mnn

1. Which of the followlng ls a igneous

rocks ?

(a) Sand stone

O) Marble

(c) Basalt

(d) Genis5

2. The starrdard size of a brick es per IS

is

(a) 200 x 100 x 100 mm

(b) 19S x 95 x 95 tfitn

(c) 190x90x90rnm

(d) 200 x 90 x 90irrm

(1) P.T.O.
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3. tqfr ffd +rr{rqfrsdffi { fffrsr
(siorqftqsrdmnftt

(e) tos6*fu
O) zoEo€.qfrro

(c) oosa t qfut.

(d) gae6 * qfoq.

q+ {qr+ ftren+ q(wtsm }r
(a) Ca(OH),

O) cq(orl)
(c) Ca(OIr)

(d) Ca(OH),

q{ 6rfrrflwr rfiHUr roqr qm t
(a) HCrqqfmrw
O) w* rry61q6*q
(c) Fil-W€Rd+*
(d) tu+r-d€+

tTErd**{eqtgetm.rfit.
(a) Czs

O) Cgs

(c) CrA

(d) csA

t fu{rt Er4 + fi{q *+d qqd
qnffittrr
(d) I :6
O) 1:16
(c) l:?A
(d) I :30

7.

(?) ,fir4
In the chemical cotnposition of a
brick tnaHng soil, the quantity of
Silica (SiOr) is

(a) more than 10%

(b) more than 20%

(c) more than60%

(O more tban 98%

4, What is forfred cfron wat€r is added
tO lirnc ?

(a) Ca(OIDz

(b) cq(oH)
(a) Ca(OI)
(d) Ca(olf,

Soundness Est of rirne is doae |51

O) Ixr€ral str€trgth rest

(c) Ir-Chateflermould

(d) Vicat's motld .':'.

Which one of the following is not a
constituents of cement ?

(a) CzS

O crs

(g) C2A

(d) csA

The ratio of cement mortar far brick
rnasonry ie

(a) 1:6
(b) 1:16
(c) 1:?A
(d) I r30

7,
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. B. qs$ +TT* srrdfftr qrr ftt Hr wfr

tt
(a) ffit: Slg
O) tq-gs
(c) FIa[

(d) +{nr

e. tTq{+qilq*Ed*tEtd*F
dffi+qt{qmqfiUttt
(a) nrrrh'$t'

O) ffiq{t
(o) 'wita
(O +(u{ffiTr

10. 1qtTf,frrTJIrqrfiil6
(a) qlil qS{

Oi Ewrr$t
(o) q{rq+{q${
(al i$ftqt{drqfr{

11. dtur qrmqfit
(q) tla$.
O) fiTqhrk
(o) qIffiiW

(d) frfur€

12. qqFqrTq[rfrwfo'qaf
(a) 2.6"2.7

o) 8.e4.0
(o) 1.0

(d) 11.36

13. uqalwfiortwqqq qrnq

(a) sqrl[ilIt I

O) wdrmrt r

(c) w*wriartftmmqmrt t

(d) rrqrflTt t

10,

nu
Tho innermost Part of a t'rmber ie

known as

(a) Heart wood

(b) $aP wootl

(c) Bark
(d) Medulla

l\Ihich oJ &e following dafect in
dmbsr is not develoPed during the

growth of tPe ?

(a) Star shske

(b) Heart shake

(c) UpsBts
(d) Case-Hardeniog

Pig iron is exrrctOd in

(a) Blast furnaco

(b) Cupola firnnce
(c) ReverborntcrlfuroacG
(d) Bessiner conver@r qrnaa9

Which ono is not n iron ore ?

(a) Hempttte

(b) Linonlte
(c) Bauxite

(d) Magpetite

Speciflc EravitY of aluminiumis '

(a) 2.(,i2.7

o) 8.9.9.0

(c) 1.0

(d) 11.36

13, On corosion of mptals, the volrrme is

(a) remain same

O) docneased

(c) firstdecreased,theningeasea

(d) ilclpasod

11,

12,
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14. slg Efq fir+ +ftqEr?q { +n frfiHrqmtr
(a) {1667

(b) 6r{q
(c) HE-il
(d) fufdi{g

ls. frrH { + qilq qr fttq truqrrqtfi t r
(a) qhrvr.qfr diq
(b) +am,vflHr siq
(c) rilsr:rw,,dq
(d) *ilsr"E{r sir

16. ftqfriemrqrnt:
(a) q+r+sr
(b) iqr
(c) nfrqtTg*a
(d) *sqd&

17. ohvr{Eqrtg{fit?
(a) qxfr{t

(b) ddenr
(c) qiqq
(d) \lqBfr{nfr

t8. ffi" E{ffHfusrwrqtqqftt}l
(a) E.er$q{flt
(b) qfumqrfla

(c, in-fiIe3tfF{IT

(d) qqrtnr{Hrm"

19. t{srffi qiiT rer irfi^Hrq rrrvmr } t
(a) 25,39o

c) 50-?0o
(c) 5-l0o
(d) ao.go"

14.

u0.t4

What is qlxpd io glass to
manufacture foamed glass ?

(a) Sulphur
(b) Carbon
(c) @artz
(d) Celluloid

Which one is not a t!,pe of glass ?
(a) PoAsh.Lime glass

(b) Potash-Ircad glass'

(c) Sosa-Sulphrr glass
(d) So{4lime gtasg

Which one of following is s drier in
paiat ?

(a) Whirc lead
(b) Naphtha

(c) Barium sulphate
(d) Lead,acetate

lVhiah paint is tnospalpnt ?
(a) Varnirh

O) Cement paint
(c) Enampl

(d) Aluqininnpaints

'Ssraper' is which of ttrp fo[owiqg
mgohino:

15.

16.

17.

18.

(a) Compactiop machrne

O) Hauling equipment
(c) Concretpequiprnent
(d) Trpnching machine

19. Tractor is ueeful rq srepp grades upto
(a) 25A9o

o) 5G70"
(c) 5-l0e
(d) 80-900

(4)
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20. lq{ fus ffir{ d g<r + eqri i# Hr
rr5fir ?

(a) qq

o)d
(c) qEH

(d) ffiUqr

zr. fituepfimrqrtr{t
(a) @fttkq'm
O) tmtEotfrcrr{
(c) ffis6tqq+rfit*qqfuE{
(d) d;htqgqdwttr

6ffiurodrfit
(a) d+trestlalqr+
O) Eind Hsrt

(e) tqd qnr

(d) EqTltqr{qffiT

y15 fg da#{sT sfirl ffi aqum t
(a) 1:1,5:3

O) l:2t4
(e) 1 :2,5 :5 '

(d) I :316

rftqWnqrer +r Etdr t
(a) 1.,5 kuPh

(b) 6.s.1o hph
(c) 8.20 kmph

(d) t2-25 knph

(s) Nr0
Trenchers aro not used fsr dlgf,ing in
which soil ?

(a) Loatns

(b) Cfay

(c) Rocks

(d) Loose soils

What is function of s ransit tnrck
mixer ?

(a) Mixiag of ooqcrgte

O) Transportatioa of cgncrotp

(c) Transprting conere:to without
sening

(d) Tilting of dnrm

Which onp is not a finction of
Bulldozer ?

(a) Fi[ing of bonow pits

(b) Clplning of Jnuglo

(c) Filliag tpnchos

(d) toadhgsoilinDumper

The best mix proportion for M15
grade concretp is

(a) 1:1.5:3
G) L:2:4
(c) l:2.5:5
(d) 1 :3 :5

The speed of shpep fopt roller usually
varies

(a) 1-5 kmph

(b) 6.5-10 kmph

(c) 8'20 kmph

(d) t2,25 kmph

20.

2t.

22.

23.
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?s. fut it * ft-h qr {tH rrr qFrq ra'fr

tr
(a) qqtqd

(c) f,r.fltc

fieETrctt qr5frffit
(a) q*Wmr
(b) s-w161s

(c) FTdET

(d) qrirElt

qITe iF.rr6['rT (irf, ir$ qm rog qg.[.

srtilortt
(a) fiFfur
(D) iE,rwqfi qrffiTg
(c) rqk{r
(d) {rffinqr

*dtg{ Hwfi wl tffirqrtilar t?
(a) rmrdd+frq
O) Tm*drsrf+fu
(c) qrqfiqmTq++fuq
(d) sqmHreTqri+ft{q

tmrsffi'r ftqF wie{ tq frr.ff qnrr
kkqtvmtr
(a) qn*q
O) en+mfu
(c) tr(gi qrffi{fu
(d) qntrui

ph $ qr#q mqt, n+s 1& # qSFr
tiqrqq,rcrtr
(a) IS 16241960

o) rs 1648-1960
(c) IS 1624-1984
(d) Is l64E-1e84

(b) t6asm

(d) Wffm

26.

27.

29,

30.

(o ?p.t{

25. Which one of the follouring is not a
rock csnstituent dncral ?

26.

(o) Q.,artz
(c) Augite

(b) Felspar

(d) Numina

The shepp of a pot tihs is
(e) Semi circular

O) $-shape

(c) Plain

(d) Channolshape

.Wtrtch of the pement ingr,rdient ha$
biggest part in gemont ? 

.

(s) Silica
(b) Calcirrm oxi&
(p) Atumina
(d) Magnosia

.$/hy gtpdum is added ro cement ?

(a) To increarevolume

O) To increaro ofiehgfh

(p) To rpduce temperaEre

(d) To prolong setting tiuo

Ip a concretp bprch mixing planC how
a barct is taken as

(a) weight Uarching

O) volume barchi"g

(p) weight arid volume batching

(d) noilP

tlVhich Indian standand cqde &sqtibe
tests of lime ? \
(a) Is 162#1960
(b) r$ 1648-1960

(p) IS 1624-1e84

(d) rs 1648-1e84

2',1.

2e.

30.
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(iit)

, (iv)

I;TqilETif,TFT:

Explain the fullowing :

o ffiffi*
Bitumm distibutor

(ii) {#e{q
Couetete pump

6iiy ftftm uq

Alloys

(tv) ffik
Rotry Kitn

(v) g{d

Sudr,hi

CC20q/CE2,t9 RolI No. 3 rorqrroJoo1o.....i...t

2016

fqftffifiElrfi'; ?0

ttlfiagnUn It{lrtn t ?0

;tlG t fi)
NoE:

(ii)

yw w qW tvlr d + GF# # **.fFr+ t

Qr*stion Nd, 1 is cottpulsory, uisvter ory fivc qwstbns from tlu renuinlng,

milqrn? + Br# qnl qt frqw(,t tnr mr a?&E I
Solve all pans of a qtustion coruecutiveg togetler.

tF'arffiErwgsFrrrry wqq t

Ston each question on aftesh pge.

rhil ry,vqil f -rrrilrd+ d ffi + -rfrftFi?.eB"r'd srrrf, t
Ort$ English verslort is valid. br case of dlffererce tn both tlu languages.

1.

(2x$
P.T.o.o)
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2. (i) eErfrSq'ftr,{uT6td*q{qqf,rEt I r

Explatn in brief &e classification of roeks.

(ii) ffit*tnfrr+d*qqfid r

Explaln Hot olx plant of Bitumen. (6+6)

3. (i) EffiFsr qa1 +trqfu, + uhqr qt T,TAE+ r

Explatn manufacttring process of hydraulic lime.
(ii) tel tsnrR, {q,q qtqr+ *qPrqT + s{erd I

Expt4in ttre moulding, drying and btruing process of bricks. (6+6)

4. (i) Effi tftTqtotffiqrqr{rh{ qdq qfffrq 
r

Explain in brief the manufacnring process of tiles,
(ii) tmfutur { w,5 {ffi q5f'ft*frfi{q}t dmsqql6ts r

Explait the dift,Fenccs between dry md wGt process used in the manufacturing
process of cement. (6+d)

s. (i) ftE{r+dvilqur { rgm *+ er* frffi{-{ ftftn} Er {dq { q'di{ Ehtfu+ r

Exptaln in short the vatious mettods used in seasoning of dmbet.
(ii) qdtftt+mmwmdetwtrfr |

Dercribe the vafiouspfopeftieB of plg iron, (6+0)

6. (i) erq{qfiffidtsrts{ errtsq+lfrrq r

Diffe,tentiato botween fough & oonveted timbor.
(ii) 6tq qfr tfltur sfuqi rff iliq fuq rqro{sg*'wqhil wlrrryr vrm r

Draw the flow diagram of manufacturing process of glass and also write the uses

of glass. (5+6)

7. (r) t€q4dfrtrmlEpr<mrrk{tqfifusr{rqeffi I 
-Draw a table of compadson between paint & vArnish.

(ii) qd *twrqqmr, dftrotxutt6 sqql'il trr qslq qrt r

Describe manufhc-turing prccess, physical properties and uses of zirp. (Cl6)

u. (1, q.RIEFNRrFIHHqTIFISII{cI :

Explain in brief paver finisher.
(ii) ftftNqrqrrt'se+mErhdH I

Explatn the various typ6s o,f dump6fs. (5+6)


